Truly Exceptional @

static int P(std::vector<int>& a, int i){
int res = a.at(i);
try{ return res + P(a,i+l); }
catch (std::out_of range e) { return 5; } (1)[Feh1erme1dung]

Was gibt das Programm aus?

} (2)0, dann [Fehlermeldung]
static int Q(std::vector<int>& a, int i){ (3)10, dann [Fehlermeldung]
try{ return a.at(i) + Q(a,i+1); } (4)11, dann [Fehlermeldung]
catch (std::out_of _range e) { return 5; }  (5)15, dann [Fehlermeldung]
} (6)0, 10
int main() { (7)10,10
std::vector<int> a = {1,2,3,4}; (8)]LL,11
std::cout << P(a,0) << " "; (9)11,15
std::cout << Q(a,0) << "\n"; (10)15,15
return 0;



Erklarung @

st?tic int P(std:fvector‘<int>& a, int i){ P(a,O) Ok bIS P(a’3)’ dann try
int res = a.at(i); . .
return P(a,4). Exception in P(a,4)

try{ return res + P(a,i+1); }

catch (std::out_of range e) { return 5; }  [out of bounds!] dadurch catch

} . . .
static int Q(std::vector<int>& a, int i){ bIOCk In P(a’3) glbt > ZUFUCk.
try{ return a.at(i) + Q(a,i+l); } 5+34+2+1=11
catch (std::out _of range e) { return 5; }
}

int main() {
std::vector<int> a = {1,2,3,4};
std::cout << P(a,0) << " ";
std::cout << Q(a,0) << "\n";
return 9;



Erklarung @

static int P(std::vector<int>& a, int i){ Q(a O) Ok bIS Q(a 3) dann try
int res = a.at(i); ’ . o
try{ return res + P(a,i+l1l); } return Q(ar4) In Q(ar4)
catch (std::out_of range e) { return 5; } Exception in Q(a,4) [Out ()f

} |

static int Q(std::vector<int>& a, int i){ F)ounds.] d.adurCh (.:.atCh bIOCk
try{ return a.at(i) + Q(a,i+1); } IN Q(a,4) glbt 5 zuruck.
catch (std::out _of range e) { return 5; }

) 5+4+3+2+1=15

int main() {
std::vector<int> a = {1,2,3,4};
std::cout << P(a,0) << " ";
std::cout << Q(a,0) << "\n";
return 9;



Truly Exceptional @

static int P(std::vector<int>& a, int i){
int res = a.at(i);
try{ return res + P(a,i+1); }

Was gibt das Programm aus?

catch (std::out_of range e) { return 5; } (1)[Feh1erme1dung]
} (2)0, dann [Fehlermeldung]
static int Q(std::vector<int>& a, int i){ (3)1@ dann 'Fehler‘meldung'

try{ return a.at(i) + Q(a,i+l); }

catch (std::out_of_range e) { return 5; } (4)11’ dann [Fehlermeldung]

} (5)15, dann [Fehlermeldung]
int main() { (6)0, 10

std::vector<int> a = {1,2,3,4}; (7)10,10

std::cout << P(a,0) << " "; (8)11,11

std::cout << Q(a,0) << "\n";

return 9;

} (10)15,15



